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 1 (Canarias 2007).-  

 a)     gS /gT = 1’055  

  

b)      TTitán  =  15’91 días  

 

c)     AñoSat  =  29’5 años 

 

2 (Cantabria 2007).-  
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3 (Cantabria 2007).-  

 a)   T  =  92 min;  v  =  7694 m/s 

 

 b)   E  =  6’6 ·10
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 c)   T  =  100 min 

 

4 (Castilla-La Mancha 2007).-  

 a)    R  =  42297 km;  h  =  35927 km 

          

b)    v  =  3076 m/s 

 

c)    Em  =  – 3’4·10
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5 (Castilla-León 2007).-  

 a)   12 ·27 TT    

 

b)   12 ·3 LL   (misma dirección, sentidos contrarios) 

 

6 (Extremadura 2007).-  

 x  =  0’3875 m 
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